GRADE 11 CST MATH
MIDYEAR EXAM REVIEW
SECTION 1: MULTIPLE CHOICE

Note:

- You have seen all of these questions before. Your midyear
exam will contain 5 multiple choice questions based on the
same types of questions as in this package.

- Answer key posted on website
(thomsonmachigh.weebly.com)

- Please come see me ASAP if you do not understand any of

these
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In this situation, how many solutions maximize ner revenue?
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a music store can sell. These are represented by the following polygon of
constraints.
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X _.E_..._vm.q of cassettes sold
y : number of disks sold

The music store wants to maximize its revenue. The table below shows the

revenue corresponding to each vertex of the polygon.

| o
P(30, 240) $4 680
Q(210,120) $4 680
R(180,60) $3 240
$(30,30) $900

In this situation, how many solutions maximize the store’s revenue?

A) Nosoluion C) 2 solutions

B 1 solution D) More than 2 solutions

"“U_SL are certain constraints on the number of cassettes and the number of

Coordinates of the

Vertices of the

Potygon of Coneiraints
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P(757.5)
G(10,2)
R(3,56)

The following polygon of constraints ~  *
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enrofl in a painting clase at the same time.
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paid $40 per adult and $30 per child enrofied.

The teacher is
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maximize the teacher’s income?

C) 8 adubsand 8 chilgren = 60

'A) 7 adults and 7 children 450

B) 8eadultsand6chidren SB0 D) ©adulis end 3 children ".'\'i,b



. - | The solutions for a system of inequalities are represented in the Cartesian plane
below. Points P, Q, R'and S are shown on the graph. |
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How many of these four points represent solutions for this system of inequalities?
A 1 c) 3
" B) 2 D) 4

é. The three statements below concem optimization problems represented by polygons
of constraints drawn in the Cartesian plane.
- Any optimization problem has at least one optimal solution. |
- The point (0.0) always represents a solution to the system of inequalities
associated with the constrains in a problem. - .
- The coordinates of the highest péint of the plygon of constraints does not always

maximize the value of the function to be optimized. —_
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How many of the above statements are true? i
A)  All3 statements | - C) 1statement
B) 2statements. D)  None of thesé statements

? The solutions for g ' iti
ystem of ine ualities
> are represented on the right. Poir?ts A, B,

C.D,E.FandG are shown on the graph.
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= ) Issued by telephone. Each vertex in the graph below represen : .
FriRL L b v W m An maumﬁogmna:m two vertices indicates that the two people in question know
k. § ’ , each other's telephone number. .
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3 : i ins an Euler circuit? L
| Which of the Tllgwing eontains
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Anne wanls to make as few calls as PoOssible so that she

will have more time to
organize the party. John cannot make any calls,
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What is the minimum number of calls that Anne must make?
0 : g A) 1 call C) 3calls

B) 2calls . Q 4 calls
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% In.an outdoor centre; a network of 6 bicycle paths connects rest m.:.wmm. P.Q; m,. S,
T and U, PR B . . .
M... The vertices of
" ,

the following graph represent the rest areas. The edges represent
the bicycle paths. o “

TS organizing a gettogether.

% The vertices of the 9raph represent the ﬁmo

%L An edge Lonnecting two Vertices indicates that the two People in question know
€ach othersg telephone numbers, g

ple who zre eXpecied to atienq.
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area, while riding along each bicycle path only once. ’
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Which of the following statements is true?

“A)  The sequence L, M, N; N, M, O, K anamm:n.m a path that passes over alf the .
edges of the graph.

B) Thesequencel, K, O, M, N represents a path that nmm.mmm through all the
vertices of the graoh.

C) The sequence N, M, _. K, O, M, N represents a circuit that passes dver all
the mammm of the mﬁmn: :

D) The sequence N, i, O, K, L, M represents a circuit that passes .:.:o_._m: all
the vertices of the graph, :

5o

& Consider the graph below.

Which of the following paths is a circuit that passes through all the vertices of the

graph? : Ry B
A MP,QRNO C) P,Q,R,N.O,P.

B) O,P,QRMN,R

D) QR MN,OPQ

#+ 3
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Oo:m.a.mﬁ the graph on the right,

Which of the following mﬁmﬁm:wmaw is true? ‘ D

A) The sequence N, O
of this graph

3

P, o
Q Nre u:mmm:a a path that Passes over m: the edgel

B) The mmncm
nce N, P, Q 0r
vertices of this graph. . PPIesents a path thay Passes through al the

C) The Sequence Q
P, O, N, _— -
edges of his Gk Q0 represents g Circuit that pagses over ali the

D) The Sequence Q, NO, P Qre
vertices of thig graph,

presents a cirgyit that passeg a.:o_:@: alt
e

! the

Which of the folloving has a circuit that iravels over each edge of the graph ol
- e -

~and only ance? RNty
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Which one of the following graphs contains a circuit?
A) P N o P & . - Q
Y . ) 4
s ) R s R
B) p . Q D) o Q@ T
Y A
s g R s R
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. Which of the following has a circuit that passes through _all the vertices of t
graph? _
A) > C) >
Y A 4 4
B) ° % = D)

Consider the graph below:,

#2) ¢ _' ‘.L

P e) N
Which statement below is true?
A) There is a cireuit that begins‘at L.
. B) Thereis é circuit that bégins at P.
C) There is a path that begins at J and ends at N.

B} -There.is.a.path.that_begins at Q and ends at M.

—————
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Consider the graph below.

I———— P LR

Whijch of the following statements is true?

A) The;e is @ path that begins at vertex A and ends at verlex D.
+B) Thereis a path that begjns at vertex B and ends at vertex F. |
C) ' The.re is a path that begins at vertex E and ends at vertex B.

D) Thereis a path that begins al vertex G and ends at vertex C.

hich of the following graphs has a circuit?

A) : G-

B!

)

ﬁ(_siven the following graph. __ _ __ .

4 5 B
)” Id
h 4
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D. - C
E.

Which of the following statéments is true?

A)' There is a path that begins al vertex B and ends at vertex D.
B) Thereis a.path that beéins' at vertex C and end_s et verlex A.
C) . There is a path that begins at vertei D and ends.at vertex C.

D) Thereis a path thatbegins at veriex E and ends at vertex B.
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w. -‘Ken works as a a&.iwéﬂm: for a restaurant. He must leave the restaurant, deliver

[

]

»

. a meal 5 a customer's house and return to the restaurant.
o --In the following graph, the edges represent the different streets that Ken can take.
2 .w“n.am are one-way streets. The verlices of the graph represent the various
22 h .:samnﬂ.osm..«:m nuimber on each edge represents the distance, in metres,
] ; -. between two intersections. d :
2 § . . .
m. 8 S > 490 600 e
m. & 50
g 200 Customer's
..m..w : 150 house
&8 P 50
m w ) ) 300 500
.W.m ; 200 100
e i
3 .m 1 Restaurant ¢—«
- 8 What is the shortest distance that Ken can travel fo make this delivery and retum to the
HS. i restaurant?
34 :
M m A 1 500 metres- C) 2050 smﬂ.@.w
28 B) 1750 metres D) 2200 metres
.23 m |
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